Séquence de Nombres Linéaires (F)

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
2795

!
2820

! 1
2945 2970

Différence commune:
| | | | | | | | | |
| | | | | | | | | |
6892 6922 6932 6952
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
6488 6538 6588 6688 6788
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
9050 9250 9350 9400
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
5796 5946 6021 6096 6171
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
6501 6801 6951
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
1336 1436 1511
Différence commune:
I I I I I I I I I I
5631 5641 5661 5681 5691 5701 5711 5721

Différence commune:
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Séquence de Nombres Linéaires (F) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
2745 2770 2795

Différence commune:

| | |
2820 2845 2870

|
2895

|
2920

25

1
2970

| | |
6862 6872 6882

Différence commune:

| | |
6892 6902 6912
10

|
6932

|
6952

| | |
6338 6388 6438

Différence commune:

| | |
6488 6538 6588
50

|
6688

| | |
9000 9050 9100

| | |
9150 9200 9250

Différence commune:

50

|
9350

! ! !
5796 5871 5946

Différence commune:

| | |
6021 6096 6171
75

|
6321

| | |
6276 6351 6426

Différence commune:

| | |
6501 6576 6651

75

|
6801

| | |
1311 1336 1361

| | |
1386 1411 1436

Différence commune:

25

|
1486

! ! !
5631 5641 5651

Différence commune:

! ! !
5661 5671 5681
10

!
5701
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